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| 532, Fully Capacitive Circuit

. A capacitor is a component that is similar to a small
| pattery. This capacitor has the ability to store energy in the
¢ form of electric charge. The capacitance quantity of a
¥ capacitor is measured in Farads (F). Capacitor includes
 infinite impedance (open-circuit) in DC circuit but it has a
| zero impedanc? (short-circuit) at very high frequencies.
i We can use given equations to determine the value of
. current:
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“AC Circuit with a Pure Capacitance (C)
From figure 5.14, let us consider an AC circuit with a pure
capacitance C. The alternating voltage V is represented by

§ V.= V_ sin(ot) => V =V, £0° ()

Here I is used to denote the current flowing in the circuit. V¢
ienotes the voltage across the capacitor and is similar to V.
The current through the capacitor is determined by
following steps:
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